Maths Yr 5
Go to the following page: https://www.bbc.co.uk/bitesize/articles/z47mkty
Watch the video comparing and ordering money.
Now try the activity
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Now try activity 2 – The interactive game on the web site above.
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1. Choose the correct opfions to complete the statement below.

[ H £12.35 H £12.45 H I<|

1,254p 1,238p £12.62 1,226p
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2. Sort the amounts into the table below.

<1,450p

More than £14.50

1,505p

£12.48

HEE
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3. Sebastian and Ellie are comparing money using inequality symbols. Sebastian says
there are only 3 ways to complete the statement using the digit cards. Ellie says there
are more. Who is correct? Prove it.
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206p <£G-D9>Dé 7p
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1.1,226p, 1,254p and £12.62.
2. Less than 1,450p is 1,284p, £12.48, £13.51 and 1,439p. More than £14.50 is 1,475p,

1,505p, £15.15 and £15.10
3. Ellie is correct because there are more than 3 ways to complete the statement. Various

answers, for example: 206p < £8.29 > 467p; 206p < £4.89 > 267p; 206p < £8.29 > 167p;
206p < £4.29 > 167p




